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fild: C1) B 2,125 x* +ax+b =0 AL,

4-2a+b=0,
l1+a+b=0.
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HANB=xIm<x<m+1},

HANB=2,

m= -2,

s 2<m<0.
m+1<1.
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f#: (1) BTN ABCD, AB=a, AD=b,
il AC=a+b .
NANAE=24B=2a,
ﬁﬂiBﬁ:ZE-ZB:za—u .............
(I %ﬁ’z%D‘E), HDE=2a-b ,
Fﬁuﬁ“:%(za—b).
JF A AF = AD+ DF
=b+%@a—w
=§(a+b).
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fid: (1) FEN1-100%(0.0013+0.0032 +0.0034 +0.0016 +0.0002) = 0.03 ,
FrAREA 4 ZE AR X TR] (400,500] B iy 0.03. Ll 4 45
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H1 AT %01 (x —100) x 0.0032 = 0.25-0.13 ,
fiff3 x=137.5.
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XX,

flibhx, —x, <0, H1+

4
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M f(x) FEIX[A] (0, +o00) ERERERE. 749

(1D B T &1, f(x) EX T [1,4] Frp iy,

Pl fDs f)<f(4).

XfM=-3, f(4=3,

L =3<< f(x)<3, B f(x) Ml [-3.3].

KN g(x) =a—3x fEX [A] [1,4] b H i3 ik,

Bl g(d) < g(x) < g().

Y g#)=a-12, g)=a-3,

frtha-12< g(x)<a-3, B g(x) KEIH N [a-12, a-3].
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fild: C1) UMFTA “20ETHE” N: {~L1L,{=2,2,{-33L{44. ... 4%y
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B U T s 24 0, Frbho,M T s R 2 At N 0,
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FEMFO,NRU M “k LEFE” L f()=f0O-k). 9 4

D U “1uE7HE” RE {0}, bl f)=1;
(1) H: fQ2)=4.
U “3nF7HR” BEHOMAE 44 {-1,0,14,{-2,0,2},{-3,0,3},{-4,0,4} ;
AEGOMAE 4 {(-4,1,3},{-3,-1,4},{-3,1,2},{-2,-1,3}.
FTLL f(3)=4+4=38.
UK “4nRTHE hEAMA 4D (-4,0,1,3),{-3,-1,0,4},{-3,0,1,2},{-2,-1,0,3} ;
AEHORAE SN {~4,-3,3,4),{-4,-2,2,4}, {~4,~1,1,4},{-4,-1,2,3},{-3,-2,1,4},{-3,-2,2,3},
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{-3,-1,1,3},{-2,-1,1,2} .
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o (1D R: f5) = f(H=12,£(6)=f3)=8,f(N=f(2)=4f8) =D =1,

X f9)=1,
Frbh f)+ f(2Q)+L + f(9)=1+4+8+12+12+8+4+1+1=51. ...
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